Trig Equations
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Solving Trigonometric Equations

Outcomes: Solve trigonometric equations that have exact solutions.

Use triangles or the unit circle to find exact solutions to trigonometric equations:
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Examples:
1. Find the exact value(s) of & where 0" < 6<360°
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Trig Equations

2. Solve the equation cos’ x —cosx—2 =0 for 0 < x < 27 . Then write the general

solution of the equation.
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Trig Equations

3. Find the solutions for cos® x+2sinx—2 = 0, where 0 < x <27 Then write the
general solution of the equation.
Issue?
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Trig Equations

4. Solve cos3x= —%, where 0 <x <27
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Trig Equations

1
5. If sec2x+ =0 where 0 <x < 7, solve for x.
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Trig Equations

6. Find the solutions for cosx =1+sinx where 0 <x <27
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Trig Equations

Homework: Page 291 #1ad, 3ac, 4ce

1.

Solve for x in the interval [0, 27].

(a) sinx

(d) secx

= ? (b) cos x =

= -2

1
2

(e) sinxy = —}

Solve for x in the given interval.

(a) sinx

— sinx tan x = 0, [0, ]

(b) sin x tan 3x = 0, [—,0]

(c) 6 s_in3 x—5Scosx —2 =0, ][0,2n

Solve for x.

(a) cos2x = cos’x, —~mM=x<T
(b) sin2x = cosx, —m=s2x =
(¢) cos? x — 2 sin x cos x — sin® x

(d) tan 2x = 8cos’x — cotx, 0 = x =
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Trig Equations

Solving Trigonometric Equations
Qutcomes:  Solve trigonometric equations that have exact solutions.
Use triangles or the unit circle to find exact solutions to trigonometric equations:
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Examples:
1. Find the exact value(s) of & where 0’ <6 <360°
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‘ e = 0°,180°
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